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The volume of right circular cylinder A is 22 cubic
centimeters. What is the volume, in cubic
centimeters, of a right circular cylinder with twice the
radius and half the height of cylinder A?

A) 11 \/zsﬂ(i\(\ > 232 Wik
B) 22 ‘

C) 44 il {,&‘1‘ 3 L (L \)i{

D) 66 e 7 Nt
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Which of the [ollowing is equivalent to 9l 2
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i(t]‘j Two

At a restaurant, i1 cups of tea are made by adding
t tea bags to hot water. If £ = 14 2, how many
additional tea bags are needed to make each

additional cup of tea?
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A) None
B) One




P&@fiérz/‘ Q|

VoL . 8l Rt 8% cudowy LCwdev A
6% Lﬁ ) ~ 00 cudsll

AY*h =900 oy O e
2
7~ (29 (%)

= W@{Qs %

= 7?("(7">h &)

22

V24 \/

- e (B

¥

44 culble v

- \44 cm” & AN,

Pa@e_ 42/' QI

.5/

5 4) . e
¢ 2

= (98) O‘C/v &3\ ’lD

=)

(372 [ ane



(ndd (1D
N v (M +D
= o pr

At T Nt ¢ €ean



3:05 PM  FriSep 2

et A
/ \ r 7& L

fixi=2"+1 : Alan drites an average of 100 miles each week. His
: car can travel an average of 25 miles per gallon of l
The function f is defined by the equation above, i gasaline. Alan would like to reduce his weekly
Which of the following is the graph of y = ~f(x) in : expenditure on gasoline by $5. Assuming gasoline !
the xy-plane? : costs $4 per gallon, which equation can Alan use to
S e : determine how many fewer average miles, m, he
-~ &‘]\\_\j }" Y should drive cach week?
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\ e 25
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e X Dy |
i 4 =X ¥y : 25
4] g B) —m=5 |
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C) —m=95 ‘
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o % 1S 2x+6 2 : Intersecting lines r, s, and  are shown below.

>
(x+2)° x+2

,
The expression above is equivalent o =
(x4 2" ‘
where a is a positive constant and x # -2
‘ What is the value of a ?
/) *-!L/J 7 _ % 7] 3 . .
‘ { 'Y‘Z \f %E— B E-Q—‘—M - G (J W }L What is the value of x ?
7 P 2 S — |
(W% x I %Y* F4423 |
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STOP

If you finish before time is called, you may check your work on this section only.
Do not turn to any other section.
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£ . Major professional |
I'ype of . . | :
oL i activity 'otal i : ‘
rrrrr & |1 cuchm};J Research r
P General | 258 | 1 |
Orthopedic | 119
Total 3

In a survey, 607 general surgeons and orthopedic : |
surgeons indicated their major professional activity.

| The results are summarized in the table above. 1f one ¢

I of the surgeons is selected at random, which of the : ‘
following is closest to the probability that the selected

surgeon is an orthopedic surgeon whose indicated

| ,},\wfgg‘lﬁﬂmté\‘ily isre

| A) 0122 i % |
| B) 0.196
C) 0318

i ,9 0.37%

-

Y0ad - |
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, Tree Diameter versus Age Y \'»J a white birch tree and a pin oak tree cach now have

a diameter of 1 foot, which of the following will be \

130 2 closest to the difference, in inches, of their diameters
‘ o bat< 10 years [rom now? (1 fool = 12 inches) ‘
‘ LT B O
o x \
\ Z 1ot 1, Al 1D |12=-85 ¢ 1253¢c ‘
S 2
= 100 T [
| — \ %
' % 90 aNc¢ S il '
< [ : ;
| L L N 80T ; : < B |
i I~ _70+ ‘T : '
s . [ § : IO . | e C
‘ { 10 11 12 13 14 15 16 i ’
|t Tree diameter (inches) = ‘

‘ The scatterplot above gives the tree diameter plotted
‘ against age for 26 trees of a single species. The
growth factor of this species is closest to that of
which of the following species of tree?
A} Red maple
! B) Cottonwood
: C) White birch
r’[ﬁ;‘/' Shagbark hickory
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The ligure on the left above shows a wheel with a

mark on its rim. The wheel is rolling on the ground

i In AABC above, what is the length of AD 7 i at a constant rate along a level straight path from a |
‘ starting point to an ending point. The graph of

*'-\-\).,\ * SN &0 S 9 : y = d(t) on the right could represent which of the
~B) )6 p—T : following as a function of time from when the wheel
Q) 642 A I'Z : began to roll?
) 6J3 A) The speed at which the wheel is rolling '
e —\ B) The distance of the wheel from its starting point
Siq BO ST

oy Y e = ~ C) The distance of the mark on the rim from the
) center of the wheel

The distance of the mark on the rim from the
ground
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A [.’S\’th)](n.,lal st up an experimeiit to study the
w tendency of a Pegson to selegtthic first item when
presented with a seriesofitems. In the experiment,
300 people werg ited with a set of five pictures
arranged invdndom order. Each person was asked to
¢ most appealing picture. Of the first
150 participants, 36 chose the first picture in the set.
Amony the remaining 150 participants, p people
chose the first picture in the set. If more than 20% of
all participants chose the first picture in the set,
which of the following inequalities best describes the
possible values of p 7

b choose 1l

A) p=0.20(300 - 36), where p <150
B) p>0.20(300 + 36}, where p <150

@ p-36> 0.20(300), where p <
D) p+ 36> 0.20(300), where p <

| S 14 >
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q ‘
The surface area of a cube is 6(54") ,where a isa \

positive constant, Which of the following gives the ‘

perimeter of one face of the cube? |

2 ) |

@ S = (NG
A) 4 =gy, ) |
S= ¢y 2
B) a & } 'n)
ez 3 a
) |
) 4da =
3 3 - |
2 l
(:TLDfJﬂ {()G‘\_)

The mean score of 8 players in a basketball game was
14.5 points. If the highest individual score is
removed, the mean score of the remaining 7 players
becomes 12 points. What was the highest score?

/ @0
A) 20 2t X 4 ¢ 5 |
Bj 24 :::?:_1_.“_ — 1-{ _ |

*\ i ) {
€) 32 13+ X ,"(j ad ) <

N o — AL . '[.7,‘}',"’ e
D) 36 = S | r'J\ 5 / s ”‘E‘J . =4

® L c i T
—2 et
X115 A |
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The graph of the lincar function [ is shown in the
xy-plane above. The slope of the graph of the linear

function g is 4 times the slope of the graph of f.

the [.,l.lph of g passes through the point (0, -4), \\hal
is the value of g(9) ¢
v
A) 5 - A
L
B) 9
(T‘}\)-; = o=
D) 18 & b
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Gﬁ, CAEN ’

\ A1+2()x+)'2+ 16y = -20

The equation above detines a circle in the xy-planc.
What are the coordinates of the center of the circle?

CAD(-20,-16)  X(x*18) +(wrly) =G0

B) (-10,-8) "
C) {10,8) .
D) (20,16) -0 ~1é

oW X0 'gﬂ\cl\
e Cef <=F

¥ AT

T

'?J

In the equation above, a is a positive constanl
and the graph of the equation in the xy-plane is a
parabola. Which of the following is an equivalent
form of the equation?

A) y=(x+a)(x-a)

. #
N .
\Bh y=(x+ v Hjx - Ja)
A
a
C) y=|x+— e

éc‘)ﬁ) x(ji,f\w\y(,"
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P Questions 37 and 38 refer to the following ‘ ‘One Jyéming, Ms. Simon drove directly from her |
information. : home to her workplace in 24 minutes. What was her |
: average speed, in miles per hour, during her drive
Ms. Simon’s Workday Morning Drive that morning? . |
- e ] U3 .9 vy |
I : i . = v 3 /
‘ Segment of |Distance| speed with no KV N ¢ F * 2|
‘ drive (miles) | traffic delay — ~ T
| (mph) : o) i L{ S |
From home to : & ) L
freeway [ 0.6 25
. enfranees o ¢
| From freeway |
[ entrance to 154 50 :
' freeway exit | i If Ms. Simon starts her drive at 6:30 a.m., she can
' embeennr | | ' ; drive at her average driving speed with no traffic
| . ’ 1.4 35 delay tor each segment of the drive. If she starts her
| workplace drive at 7:00 a.mn., the travel time from the freeway
e : entrance to the freeway exit increases by 33% due to
l Ms, Simon drives her car from her home to her i slower traffic, but the travel time for cach of the other
| wuorkplace every workday morning. The table above i two segments of her drive does not change. Based on |
| shows the distance, in miles, and her average driving : the table, how many more minutes does Ms. Simon
| speed, in miles per hour {mph), when there is no traffic i take to arrive at her workplace if she starts her drive
| delay, for each segment of her drive. : at 7:00 a.m. than if she starts her drive at 6:30 a.m.?
. : (Round vour answer to the nearest minute.)
')
-
7~ | - \ lk v

STOP |

If you finish before time is called, you may check your work on this section only.
Do not turn to any other section.
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